Nwnuiuwlw wpluwwnwupubph gdnyg wpnnbljunp'

(.0 Uniphwujw

sUPSUNUMESNRE8UL bd ThLUPUMNREBUL <USUUSULP URKUShL <UUULUUNUL
Ywnwywpdwu b wkfuuninghwih $wlnynbn

2024-2025 nw.wnwph I Yhuwdjuy

tunudp* £ 25 3 nwwiing
Twuwdwd 1 2 3
Ont “5 9:30 10:10 11:00 11:40 12:40 13:20 14:10 14:50
ren ° 10:10 10:50 11:40 12:20 13:20 14:00 14:50 15:30
Lwpjuwuywhwlywu hwagwnnud. Shuwtuwlwu hwpjunnid Pwuluyhu gnpd
=
3
=
- 3
e | '
3 nwuwfununtntu qgnpduwlw nwuwfununipintu qnpduwlw
£
[= f==
5 3
=
3
ER
\3/ Puphlyul Vuntn Uupyut Upykiw
2416 2306
=z
=
3
=
= 3
o v
o
3
N
al
2
o ]
=
3
ER
3
\
Suwgnjugnidp ghuwpwpnipjwl
Dhuwuuwlywu deutgdtup Lnghuwnhlw PN
=
=
3
E
< 7
oL
2
a2 nwuwfununipntu nwuwfununipntu nwuwfununipniu
§
f==
3
=
2
g‘ Mbwnpnujwt MNnptipn Unwewujwu <bpdhub Lwjpwuybinjwu Uwpbuhy
2416 2416 2416
Unuihl u u Phqubu wwuwynpdwu Phqubiu wywuwynpdwu
nu$ hyunwpwnye)nt
_vg hhdniupubip hhdntupubip
é gnpduwlwu
= v Gnnjwu Swelthy
i nwuwfununintu 2426 nwuwfununipntu
=2
2 c Unubhyunwpwunie)niu
v 3
==
g gnpduwlwu
5‘ howswunpywu Lhihw huwgwinpywu Lhihw Ennjwu Swplthy
2209 2306 2418
huwbuwlwl Shubgibup Fuugnjugnudp Zhtuipupnipjul
2 ninpunnud
=
3
=
3
v
% qnpduwlwu qnpduwlw
oL
==
& = Lnghuwnhlu
El
g gnpduwlwu
5‘ Unwowuywu <kpdhut Mbwnpnujwt Mnptipn Lwjpwuybinjwu Uwpbuhy
2418 2209 2429

Yppnipjwt Yunsnipjul nilwuwn’

Swynywnbnh nbluu’'

Nwnwiuwlwu gndpupwgutinh

YwqUiwybpwdwy pwduh wnwowwnwn dwutwgbn'

U.J. Uwpuhpnujwu

U. U. Sphgnpuu

S.U. Uplpwwinjwu




